Australian Islamic College - Kewdale



YEAR THREE 22 B95 03 B

AUSTRALIAN ISLAMIC COLLEGE ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 17th December 2021 Using "G3P9" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

STUDENT GIVEN NAME(s)			STUDENT SURNAME					
ADDRESS								
SUBURB				STATE POST CODE				
PARENT/GUARDIAN MOBILE/PH	IONE NUMBER	Boarders Delivery tick here	STUDENT ID	HOUSE				
- REQUIRED SCHOOL SUPPLIED STUDENT EMAIL ADDRESS								

Your home delivery will be dispatched the week ending 14th January 2022, if placed on or before the Return date of Friday, 17th December 2021.

All home delivery orders returned on or before the 17th December 2021 will receive FREE home delivery. Any home delivery orders received past this date will incur a late fee of up to \$6.



How to order your resources

Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

Options to order

Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
 - 1. Log on to www.campion.com.au
 - 2. Click on Online ordering for parents and students.
 - 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
 - 4. Select your school and enter in your 4-character Resource List code, which is on the front page of this resource list.
 - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
 - 6. Enter in your delivery option and complete details.
 - 7. Review and complete purchase.
 - 8. Once completed an order confirmation will be sent to your email address.
- 9. If you have purchased any ebooks you will receive a separate activation email. You will need to follow the instructions within the email to complete the set up of each product.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.**

'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Malaga - 751 Marshall Road, Malaga (next to Stratco)



Willetton - 28 Kembla Way, Willetton



Trading Hours

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours 8:30 am - 5:00 pm(17th Jan 2022 - 5th Feb 2022) Saturdays 8:30am - 2:00pm(Jan 22nd, Jan 29th & Feb 5th 2022)

Closed - Sundays & Public Holidays

<u>Refunds</u>

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to end of February 2022 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

INSTPRIHDWA

Please tick the items required in the box provided \downarrow

Item Item Qty Unit Total Office Use Description No. Reqd Reqd Price \$ Amount \$

 $\sqrt{}$

YEAR THREE

	PERSONAL ITEMS FOR STUDENT USE					
	RESOURCE FEE \$100 TO BE PAID AT FRONT OFFICE (Includes Islamic School Uniform to be purchased from the Uniform Shop. PARENTS PLEAS Office					
P52076	Lever Arch File A4 PVC 75mm White	1		1	7.95	7.95
P50455	Magnetic Whiteboard 310mm x 250 mm with Dry Erase Marker	2	$\overline{}$	1	9.75	9.75
P51409	Whiteboard Marker Micador Black	3	$\overline{}$	10	1.55	15.50
P56329	Pocket Plastic 11 Hole A4 Box 100	4	$\overline{}$	1	5.95	5.95
P55442	Display Book A4 20 Pocket Black Refillable	5	$\overline{}$	6	2.00	12.00
P65021	Document Wallet Polydoc Foolscap Clear	6	$\overline{\Box}$	4	2.35	9.40
P55541	Exercise Book A4 14mm Dotted Thirds 48 Page	7	$\overline{\Box}$	10	1.10	11.00
P50129	Crayons Twistable 12's (WA Schools Only)	8	$\overline{\Box}$	1	4.30	4.30
P58510	Eraser Plastic Pencil Large With Sleeve	9		10	0.40	4.00
P51259	Sharpener Pencil Plastic Barrel Single Hole	10		4	0.75	3.00
P50208	Pencils-Coloured Columbia Pkt 12's	11		2	2.65	5.30
P50090	Ruler 300mm Wooden	12		2	0.70	1.40
P52430	2022 Diary A5 Student Collins	13		1	2.10	2.10
P51685	Glue Stick Artline Clear 40gm	14		6	2.20	13.20
P50004	Pencil (2B) Economy	15		30	0.40	12.00
P56210	Handy Pouch A4 (360mm x 260mm) Micador	16		1	5.95	5.95
P50424	Scissors 152mm Blue/Black Handle	17		2	1.65	3.30
P56627	Tissues 2 Ply White Facial Box 180	18		6	3.00	18.00
P50105	Markers Micador Basics Fine Tip Pk 12	19		1	2.00	2.00
P52328	Paper A4 80gsm Fluoro Assorted - Pkt 500 Quill	20		1	23.10	23.10
	PAPER MUST BE SUPPLIED					
	ENGLISH					
P00370	Catching On To Comprehension Book C [Recht]	21		1	16.50	16.50
P11310	Excel Basic Skills - English Workbook Year 3 [Gibbs]	22	$\overline{}$	1	15.95	15.95
P05113	Word Up Grammar Book 3 AC [Laidlaw]	23	$\overline{}$	1	17.50	17.50
P10725	Spelling Mastery Level C (Year 3) Student Workbook [SRA/McGraw-Hill]	24	$\overline{}$	1	28.95	28.95
P06591	Reading Conventions Book 3 [L O'Brien]	25	$\overline{}$	1	17.95	17.95
P13574	Targeting Handwriting NSW Foundation 3 Student Book [Pinsker]	26		1	16.95	16.95
	MATHEMATICS					
P07935	Excel Revise In a Month NAPLAN Tests Yr 3 [Horsfield & Jones]	27		1	26.95	26.95
P01887	PRIME Aus Mathematics Student Book 3A	28		1	17.00	17.00
P01904	PRIME Aus Mathematics Student Book 3B	29		1	17.00	17.00

SCIENCE

P05164

No Specific Requirements

Think Mentals 3 Student Book [Firefly Education]

PARENTS TO SUPPLY

- 1 x Prayer Cap (Boys) 1 x Prayer Scarf & Skirt (Girls)
- 1 x Pair of Thongs
- 1 x Sun Hat Wide Brim
- 1 x Small Hand Towel
- 1 x 200ml Hand Sanitiser

30

14.95

14.95

Please tick the items required in the box provided \downarrow

Office Use Description Item Item Qty Unit Total
No. Reqd Price \$ Amount \$

Number of Boxes ticked:

Postage (Home delivery only) \$0.00

ESTIMATED AMOUNT DUE
(PRICES CORRECT AT 05/11/21)

\$

 $\sqrt{}$